PRETRIEB/N0SBEE TR 26 13 # BEATEREGTR AB:152+1 A
?;j SHI8H I SE19E I SH20H 2HI= 5H21H A SH2H A
Vi B waE  |eH BT HE | BT wa v enem e [ eMEE =
T BT EE R 0.1KG|#EHKER FEoRER %N Rirgi e H
EhH 0.3KG A FEL<FRIE> 157643 R 2KG [ 1KG /NE I 3KG
AR 0.1KG FHEELH <3 A1>(565¢ plid FHAR < 2> 2KG KLEEE R IKG
g |FE SKG| = H | =h(CAS)(IK)<FE ] 26| o |FAH<KZS TKG j‘i KE44(E) 168
£ | B [PumEddo 26| A gg TSR %> SKG| 1 | ErH (GrB<AZe 3KG| T |ATTHOHEDOE  10KG
| OH (BT (CAS)-< FE 12KG| A o W | 3KG| o
T ezl e Ia +
=l 0.3KG 4% 0.3KG P 0.1KG 4% 0.3KG SLEEE% 1KG
o S IKG| == [FEK 12KG éﬁ LLERA 0.IKG| & |4LBRH 0.1KG| s pESE 5KG
RS 8KG| ¢ |fit 0.1KG| # |BEH(ELH) 12KG| %% [BE<HE> 10KG| = [JEEE<ET> TKG
| = |&5m 3KG| M | = ERICAS)IK)<ERE> 3a| B |mapRcEAERES( EEE| B |[Risakis IKG| ¥
(=) JK = H &
piia
% | 2 [ 0.6KG E AR e 12KG T lammrs kG| & |amemns 12KG
¥ E PR ESEE) 1KG| & o -
- B 0.1KG FORMF 7KG - LLEEE 4% 1KG I = 0.3KG ” &R 2KG
o | m [KEL KG| B KB IKG| == |B# B4 3KG| & |[MaF 0.6KG| 5 [KEH KG
o | A ke x| 7 [ T e I
H B e IKG| " [skii<t-4>0K) 2| B
i SR S kG| 7 H
T ™ 1514 o e < 4> i
. sl = sl HE sl g Eshall BHE iﬁ%ﬂ =
é FEAR S 3.7 AR 4.4 AR 4.2 AR 3.4 BHREIH 49
B HEENE 2.6 HEERNE 2 TRENE 1.7 RENE 2.5 E%EW“E 2.6
% HAESH 3.3 HAESH 3.2 HHESH 3 HHESH 3 JHPESH 3
5 B 2.1 i 1 i 1.9 i 1.3 B 0.8
viis TKESH KEHE 1 Al 1 Al A
BERR) 655 BECKR) 687 EHEKF) 724 EHEKF) 593 BECRR) 693
T%»’E%L:i*ﬁti?ﬁﬂﬁﬁl?q HiTRE k&




R FIFE R - BIRL A SR ERFACRA F4 P FIJ RHRAwT:
LERLFFa $E0FRARGRAES  HNEFEEERBY -
2.8 %7 A mER LR o



